
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ريال، أجرة العمال   200إيجار المحل =

 ريال 150=50×3=

 ريال  400=5×80تكلفة الفطائر=

 ريال 750=400+150+200حسن=ما يدفعه 

3×3×3×3×3=243 

15×15×15×15=50625 

 متر مربع  21=7×3مساحة الحائط = 

لا تكفي علبة دهان واحدة لأن مساحة الحائط أكبر من  

 متر مربع  20

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12-9=3 

8×5=40 

(12×3(÷)5+13 =) 

36÷18=2 

 7(×4+50=)  7×54هدى=ما توفره 

=50×7+4×7 

 ريال  378=350+28=

 7م=      9-16م = 

 51د=    14+37د =

 3ت =   32÷96ت=

 21س =  6÷ 126س =

(13+17+)34=30+34 =64 

(50×2×)17=100×17 =1700 

 12س +3( = 4×3س +) 3

 ص 8

 +ع 6ع=(+5+1)

 19ف+  6= 7+ 12ف + 6

https://hulul.online/


 

 
 ص 3س+ س

1 1+3 4 

2 2+3 5 

3 3+3 6 

4 4+3 7 

 

 

 ص 1س+4 س

0 4×0+1 1 

1 4×1+1 5 

2 4×2+1 9 

3 4×3+1 13 

 

 

 

 

 ص × س110 س

2 110×2 220 

3 110×3 330 

4 110×4 440 

5 110×5 550 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 ،( 3، 2، 1، 0المجال= ) 

 ( 13، 9، 5، 1المدى: )

 ،( 5، 4، 3، 2المجال= ) 

 (550، 440، 330، 220المدى: )

 ع  12ر =

 ريال 144=12×12ر = 

https://hulul.online/
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